=6, BC = 8, BD = 10 ¢! ZIA}Z+s ABCD ©f|A]
A BD & HE AR St H C7FHE o &2 He Aol
AD ¢} BE 9] w3 P o4 BD of &l =49 93 Q 2 & ], ABQP
o] £ o] Aol& Fotozt.




2 AABC 9|4l AD : DB = BE : EC =
CF:FA=2:109°]th AADF =12cm? ¥
o, ADEF ¢] Y o]& +sfofe}.
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the Z1ollA CD 9 Zol=?




oh2 17”3} Zo] LABC = 60° ¢l mHER A
ABCD 9] W2l 4919 & 34 0 7} 9t A X
O o|A uF2 R ABCD o] Zt ¥l T 710 & B<]
B4 1ol W S4B A2 P, Q R, S

: = - 00 o q
2t & of, o2 % OP + OQ + OR + OS ¢} ¢
a2 A7
@ AC @ BD ® OA +0C

@ OB+ 0D ® 2AB



o2 I™dANA A G, G = ZHZF AACD
ADBC 9] #AEAolth. AB = 24cm 4
o, GG’ 9] Zo]& ot}

b e



6.

2 139 AABC 94 CAD = /EAD = 60°,
CD = 10cm, AD = 15cm € o], AC ¢] Zo]&=?
24
@ 6cm @ 5em ©) 5 om
1 2
@ jcm ® Ecm



A y=ax+ b7t A A y=3,y=1,y=c & vt He 747}

A B CHL, JAEAY=Ad x=-1°ly=1,y=
Tt 42 44 D, Eg gttt AB=3, BC=9, BD =2 4 o,
a+b+c o & Fotdet (Ha>0, c<1)

D R
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5o]7} 216cm? ¢ B2 ABCD 7} 9lth. oABCD 9] Y59
AP oA Y Wl A 49 dol&E 2zt iy, Iy, I3, Iy 2F St

43 = =
h+l+i3+1, = E(Cm) o of, npE o] ]t ¥ o] Zo]& Fstoiet.
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9. The 1T 2L AABC U4 £& AL BE TEW)

~6em” K ~5em”

@ DF//BC @ DF =2 o,

® AC//DE @ ACAB coaAFAD

® ABAC cABDE



10. o2 2™ 22 FAE ABCD oA AC + tiZH4do] 1, /BEC =
85° o ), LADE 9] 37]+&?

A D

@® 30° @ 35° ® 40° @ 50° ® 55°



